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Run 4438 quartetwise, posH(O: Beam DH
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Run 4438 quartetwise, asym0Osub: Beam ON
= Laser ON Entries: 88151 Entries: 42732
— Mean: 17.3516 +- 02476 Mean: 3.5063 +- 0.3147
= — Laser OFF Std Dev: 735230 +- 0.1751 | Std Dev: 65.0611 +- 0.2226
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Run 4438 quartetwise, negHO: Beam DIN

Laser DN Entries: 88131
Mean: 1140807 +'- 00015
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— Laser OFF Std Dev: 0.4376 +- 0.0010 | Std Dev: 0.3968 +/- 0.0014 8.618
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-------- Histogram Vars
Positive Hel (ON): 11.496873 +/- 0.001482
Negative Hel (ON): 11.400689 +/- 0.001474
Positive Hel (OFF): 8.638112 +/- 0.001936
Negative Hel (OFF): 8.618333 +/- 0.001919

-------- Sums and Diffs

On Diff: 0.096184 +/- 0.001365

Off Diff: 0.019779 +/- 0.001775
On Sum: 22.897562 +/- 0.002621
Off Sum: 17.256445 +/- 0.003422
-------- Asymmetries
On Asym: 17.050524 +/- 0.242287 (ppt)
Off Asym: 3.506263 +/- 0.314746 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 5.641117 +/- 0.004311
BkSub Asym: 13.544261 +/- 0.397201 (ppt)
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Run 4438 quartetwise, posHO vs time
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Run 4438 quartetwise, negHO vs time
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Run 4438 quartetwise, bcm vs time
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